o aa
www.atp-czesci.pl

—_— — \
4 T @]

Czesci do ekspreséw

ORCHESTRALE

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included

Rel. 2017-08231633




%; ORCHESTRALE

BREW GROUP ETNICA-PHONICA

ETNICA-PHONICA

T g

10

%
A.

ORO01

Positions without LF code no.: upon request




977 ¢

4 ar% b — @
\ ORCHESTRALE %%
Position LF code no. Description
2 1455034 CYLINDER HEAD SCREW M4x10
3 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
3 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
4 1186612 O-RING 02025 VITON
5 1186415 FLAT PTFE GASKET
6 1186894 FILTER HOLDER GASKET g 73x57x8 mm
6 1186895 FILTER HOLDER GASKET @ 73x57x8.5 mm
6 5048451 GASKET FILTER HOLDER @ 73x57x8.5 mm
6 5049383 GASKET FILTER HOLDER @ 73x57x8 mm
7 1081016 SHOWER SCREEN g 60 mm
7 1081116 SHOWER SCREEN @ 60 mm
7 1081216 SHOWER SCREEN g 60 mm
7 1081516 SHOWER @ 60 mm
8 1501007 BREW GROUP SPRAY NOZZLE g 30 mm M10x1
9 1184009 STAINLESS STEEL M8x25 mm STUD
10 1186307 PTFE FLAT GASKET @ 36x30x2 mm
11 1186766 O-RING 04075 VITON
12 1027016 UPPER CHROMIUM-PLATED SLEEVE
13 1186326 PTFE FLAT GASKET @ 22x16x2 mm
14 1501005 NOZZLE M6x1 HOLE @ 0,7 mm
15 1160517 WATER FILTER @ 8.5x22 mm
16 1439001 CAP g 16 mm FOR BREW GROUP
17 1186768 ROUND COPPER GASKET g 10x6.4x2 mm
18 1184804 CYLINDER HEAD SCREW M6x8
19 1439011 CHROMIUM-PLATED SIDE CAP
23 1190001 PAPER SHIM g 73x59x0.8 mm
24 1190002 RUBBER SHIM g 73x59x1 mm EPDM
50 1069001 PLASTIC MEASURING SPOON 20 ml
51 1069002 STAINLESS STEEL MEASURING SPOON 20 ml
52 1384003 BLACK SHOWER CLEANING BRUSH
53 1384002 BRUSH FOR MAINTENANCE
54 1384001 BRUSH FOR COFFEE SHOWER
55 1385002 NYLON COFFEE TAMPER g 50/57 mm
56 1385041 POLISHED ALUMINIUM TAMPER @ 57 mm
56 1385053 ANODIZED ALUMINIUM TAMPER @ 58 mm
57 1385600 DYNAMOMETRIC MANUAL COFFEE TAMPER @ 57mm
101 1022099 SINGLE SPOUT g 3/8"
102 1022506 SPOUT DOUBLE ¢ 3/8"
103 1241469 CHROME PLATED CAP FOR FILTER HOLDER KNOB
104 1241206 BLACK FILTER HOLDER HANDLE M12
105 1186774 BURN PREVENTING RING FOR HANDLE
106 1165081 FILTER HOLDER ASSY WEGA
106 2106200 FILTER HOLDER COFFEE MACHINES WEGA
107 1250002 S/STEEL FILTER LOCKING SPRING g 1.20 mm
108 1160053 2 CUPS FILTER 14 gr
109 1160050 1 CUP FILTER 6 gr
110 1160339 BLIND FILTER @ 70x17 mm
114 1165082 FILTER HOLDER ASSEMBLY 1 CUP WEGA

115

1165083

FILTER HOLDER ASSEMBLY 2 CUPS WEGA




L
-
<
o
-
(%))
L
L
o
o
®

WATER/STEAM TAP ETNICA

ETNICA

106

200

OR10

Positions without LF code no.: upon request



) ORCHESTRALE w3
GroUD,
Position LF code no. Description

1 1548008 STEAM/WATER TAP
2 1186201 GASKET FLAT PTFE @ 21x16.8x2 mm
2 1186394 ASBESTOS FREE FLAT GASKET @ 22x17x2 mm
3 1250372 SPRING @ 11,4x16 mm
5 1186378 CONICAL PTFE SEAL g 14x7x6 mm
5 1186626 O-RING 0114 EPDM
13 1186180 BURN PREVENTING RUBBERPIECE @ 10 mm
14 1549029 COMPLETE STAIN.STEEL STEAM PIPE ¢ 10 mm
15 1241179 WATER/STEAM TAP KNOB
17 1241179 WATER/STEAM TAP KNOB

105 1449332 WATER PIPE NOZZLE

106 1549031 COMPLETE STAINLESS STEEL WATER PIPE

200 1079030 KIT MILK FROTHER ASTORIA/CMA




p;% ORCHESTRALE

WATER/STEAM TAP PHONICA

PHONICA

c ‘\\i

108

Q-@

200

OR11
Positions without LF code no.: upon request



) ORCHESTRALE w3
GroUD,
Position LF code no. Description

2 1186594 FLAT PTFE GASKET @ 20x17x2 mm
3 1250372 SPRING @ 11,4x16 mm
5 1186378 CONICAL PTFE SEAL @ 14x7x6 mm
5 1186626 O-RING 0114 EPDM
11 1186180 BURN PREVENTING RUBBERPIECE @ 10 mm
12 1549030 COMPLETE STAIN.STEEL STEAM PIPE ¢ 10 mm
15 1241180 WATER/STEAM TAP KNOB

106 1186180 BURN PREVENTING RUBBERPIECE g 10 mm

107 1449332 WATER PIPE NOZZLE

200 1079030 KIT MILK FROTHER ASTORIA/CMA




% ORCHESTRALE

HYDRAULIC SYSTEM ETNICA-PHONICA

ETNICA-PHONICA

C0O20

Positions without LF code no.: upon request




Py

ORCHESTRALE w3
GroUD,
Position LF code no. Description
4 1349079 L- FITTING @ 1/4"M 1/8"M
5 1186771 COPPER FLAT GASKET g 8,5x5x1 mm
6 1120247 SOLENOID VALVE OLAB 2 WAYS ¢ 1/8"F 230V
7 1160566 STAINLESS STEEL WATER FILTER @ 8 mm
12 1349111 FITTING @ 1/8"M 1/4"M
21 1348035 NUT o 1/8"
25 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
25 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
29 1349042 BRASS NUT g 3/8"
30 1186446 BRASS WASHER @ 28x17x2 mm FLAT
32 1186206 EPDM FLAT GASKET @ 16x10x8 mm
33 1186035 BRASS WASHER g 18x12x1 mm FLAT
34 1349061 GLASS FASTENING NUT g 1/2"F HOLE 12 mm
35 1520506 LEVEL GLASS @ 11x170 mm
35 1520511 LEVEL GLASS @ 11x170 mm
36 1520511 LEVEL GLASS @ 11x170 mm
50 5048593 SPHERE VALVE g 1/4"mm
51 1186769 ROUND COPPER GASKET g 18.7x13x2.5 mm
52 1349019 "T"-COUPLING 3/8"F 3/8"M FOR INJECTOR
53 1349084 ELBOW FITTING @ 3/8"M-3/8"M
61 1186422 O-RING 0108 EPDM
62 1160400 WATER FILTER @ 11 mm
63 1523403 EXPANSION AND NON-RETURN VALVE
65 1527504 DRAIN TUB @ 80 mm
77 1245068 PUMP PRESSURE GAUGE g 61 mm 0+25 bar




% ORCHESTRALE

HYDRAULIC SYSTEM ETNICA-PHONICA

ETNICA-PHONICA

OR21

Positions without LF code no.: upon request




ORCHESTRALE

Py

-
GroUD,
Position LF code no. Description
4 1349079 L- FITTING @ 1/4"M 1/8"M
5 1186771 COPPER FLAT GASKET g 8,5x5x1 mm
6 1120247 SOLENOID VALVE OLAB 2 WAYS ¢ 1/8"F 230V
7 1160566 STAINLESS STEEL WATER FILTER @ 8 mm
10 1349111 FITTING @ 1/8"M 1/4"M
21 1348035 NUT o 1/8"
24 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
24 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
30 1349042 BRASS NUT g 3/8"
31 1186446 BRASS WASHER @ 28x17x2 mm FLAT
32 1186206 EPDM FLAT GASKET @ 16x10x8 mm
33 1186035 BRASS WASHER g 18x12x1 mm FLAT
34 1349061 GLASS FASTENING NUT g 1/2"F HOLE 12 mm
35 1520506 LEVEL GLASS @ 11x170 mm
36 1520511 LEVEL GLASS @ 11x170 mm
45 5048593 SPHERE VALVE g 1/4"mm
46 1186769 ROUND COPPER GASKET @ 18.7x13x2.5 mm
47 1349019 "T"-COUPLING 3/8"F 3/8"M FOR INJECTOR
48 1349084 ELBOW FITTING @ 3/8"M-3/8"M
52 1186422 O-RING 0108 EPDM
53 1160400 WATER FILTER @ 11 mm
63 1523403 EXPANSION AND NON-RETURN VALVE
67 1527504 DRAIN TUB g 80 mm
68 1455067 VOLUMETRIC FLOW METER GICAR
70 1186619 COPPER FLAT GASKET o 18x14x1.5 mm
71 1349102 FITTING @ 1/4"M-1/4"M
77 1245068 PUMP PRESSURE GAUGE @ 61 mm 0+25 bar




ﬁg& ORCHESTRALE

BOILER 1-2-3 GROUPS ETNICA-PHONICA

ETNICA-PHONICA

24

OR30

Positions without LF code no.: upon request




ORCHESTRALE %’ﬁﬂ
@
Position LF code no. Description
2 1755070 HEATING ELEMENT 4000W 230/240V
2 1755071 HEATING ELEMENT 5000W 230/240V
2 1755258 HEATING ELEMENT 3400/3700W 230/240V
2 1755259 HEATING ELEMENT 5000/5440W 230/240V
2 1755273 HEATING ELEMENT 2700W 120V
2 1755605 HEATING ELEMENT 2600W 110V
2 1755606 HEATING ELEMENT 3700W 110V
2 1755608 HEATING ELEMENT 2700/2940W 230/240V
3 1186179 PTFE FLAT GASKET @ 57x43x3 mm
3 1186194 PTFE FLAT GASKET @ 58x43x2 mm
3 1186606 FLAT CARBO GASKET g 57x43x3 mm
4 1528055 S/STEEL STUD @ 8x40 mm
5 1349491 T-SHAPED FITTING g 1/4"M-1/4"M-1/4"M
6 1186769 ROUND COPPER GASKET g 18.7x13x2.5 mm
7 1528056 S/STEEL SCREW T.C.E.Il. M10x20
8 1186619 COPPER FLAT GASKET @ 18x14x1.5 mm
9 1349102 FITTING @ 1/4"M-1/4"M
11 1439021 CAP ¢ 1/4"F HEIGHT 16 mm NUT 17 mm
12 1349089 BOILER FITTING @ 1/2"
13 1186445 ROUND COPPER GASKET @ 26x21.4x2 mm
14 1349103 FITTING @ 3/8"M-3/8"M
15 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
17 1439048 BOILER CAP g 1/4"M
18 1523538 BOILER VALVE g 1/4"M
19 1523002 PROTECTION FLANGE FOR BOILER VALVE
20 1515100 BOILER VALVE ¢ 3/8"M 1.8bar CE-PED
20 1515120 BOILER VALVE g 3/8"M 1.9bar CE-PED
20 1523409 BOILER VALVE @ 3/8"M
21 1186184 VITON O-RING 03156
22 1523402 SAFETY VALVE PROTECTION
23 1449287 SILICONE HOSE @ 8x10 SHORE 60 - 100 m
23 1449687 SILICONE HOSE @ 8x10 SHORE 60 - 10 m
24 1341750 LEVEL PROBE @ 1/4"M-125 mm
25 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
26 1349017 INJECTION PIPE 1/4"M-1/4"M
27 1186561 BOILER GASKET @ 190x137x3 mm
27 1186562 BOILER GASKET @ 191x139x3 mm




—

L
-
<
o
-
(%))
L
L
o
o
®

BOILER COMPACT ETNICA-PHONICA

ETNICA-PHONICA

OR31

Positions without LF code no.: upon request



ORCHESTRALE w3
GroUD,
Position LF code no. Description
1 1755273 HEATING ELEMENT 2700W 120V
1 1755608 HEATING ELEMENT 2700/2940W 230/240V
2 1186179 PTFE FLAT GASKET @ 57x43x3 mm
2 1186194 PTFE FLAT GASKET g 58x43x2 mm
2 1186606 FLAT CARBO GASKET @ 57x43x3 mm
4 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
6 1186445 ROUND COPPER GASKET g 26x21.4x2 mm
7 1349089 BOILER FITTING @ 1/2"
8 1349102 FITTING @ 1/4"M-1/4"M
9 1186619 COPPER FLAT GASKET @ 18x14x1.5 mm
10 1186186 ROUND COPPER GASKET @ 23x17x3 mm
11 1515120 BOILER VALVE g 3/8"M 1.9bar CE-PED
11 1523409 BOILER VALVE g 3/8"M
12 1523538 BOILER VALVE g 1/4"M
13 1341750 LEVEL PROBE @ 1/4"M-125 mm
14 1349103 FITTING @ 3/8"M-3/8"M
15 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
16 1349017 INJECTION PIPE 1/4"M-1/4"M
19 1523002 PROTECTION FLANGE FOR BOILER VALVE
20 1186184 VITON O-RING 03156
21 1523402 SAFETY VALVE PROTECTION
22 1449287 SILICONE HOSE @ 8x10 SHORE 60 - 100 m
22 1449687 SILICONE HOSE @ 8x10 SHORE 60 - 10 m




@2@? ORCHESTRALE

PUSH-BUTTONS ETNICA-PHONICA

ETNICA-PHONICA

OR40

Positions without LF code no.: upon request




ORCHESTRALE

A%
Position LF code no. Description
1 1319167 BUTTON FOR PUSH BUTTON PANEL
3 1319005 BIPOLAR SWITCH 16A 250V
4 1348025 HEXAGONAL NUT M3
9 1319242 BUTTON F.PUSH-BUTTON PANEL
10 1319504 7 BUTTONS PUSH-BUTTON PANEL
13 1319505 7 BUTTONS COMPLETE PUSH-BUTTON PANEL
14 1319082 SINGLE-POLE PUSH BUTTON 16A 250V




% ORCHESTRALE

ELECTRICAL SYSTEM ETNICA-PHONICA

ETNICA-PHONICA

AUT/DISPLAY

OR41

Positions without LF code no.: upon request



) ORCHESTRALE w3
GroUD,
Position LF code no. Description
3 3454064 CONTACTOR ABB AF09-40-00-13
4 3319501 PUSH-BUTTON PROTECTION CAP
5 3319296 BLACK BIPOLAR SWITCH 16A 250V
6 1319240 BIPOLAR SWITCH LEVER SHAPE 3A 250V
8 3221132 GREEN INDICATOR LAMP 230V
10 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
13 1444509 THREE-PHASE THERMOSTAT 169°C
14 1397052 TEMPERATURE PROBE NTC
18 1341043 LEVEL ADJUSTER NRL30/2E/2R/F 230V
21 9049001 FUSE HOLDER 6.3A 250V
22 1054052 DOSER CONTROL BOX 1-4 GROUPS 230V
27 3049020 DELAY FUSE g 5x20 mm - 10 PCS




ﬁg& ORCHESTRALE

MOTORS AND PUMPING SYSTEMS ETNICA-PHONIC

ETNICA-PHONICA

ORS50

Positions without LF code no.: upon request




ORCHESTRALE ~5 0
GroUD, 4
Position LF code no. Description
1 1313002 ANTI VIBRATION SUPPORT g 15x15 mm M4
4 1240610 RPM MOTOR WITH CLAMP CONNECTION 120W 230
5 3068014 CAPACITOR DUCATI ENERGIA 8uF
5 3068016 CAPACITOR DUCATI ENERGIA 10uF
6 1449725 FLEX HOSE @ 3/8" Fc x Fc 1500 mm
7 1449711 FLEX HOSE @ 3/8" Fp x Fc 500 mm
8 1349082 BRASS FITTING ¢ 3/8"M 3/8"M WITH FILTER
9 1349202 FITTING 3/8M-3/8M
10 1160400 WATER FILTER @ 11 mm
11 1002004 CIRCLIP J-9
12 1349103 FITTING @ 3/8"M-3/8"M
13 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
14 1330001 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
14 1330012 ROTARY VANE PUMP PROCON g 3/8" NPT
14 1330026 ROTARY VANE PUMP ROTOFLOW g 3/8" GAS
15 1191006 MOTOR COUPLING KIT
16 1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP
104 1240606 RPM CLAMP MOTOR 310W
104 1240607 RPM MOTOR WITH CLAMP CONNECTION 330W 230
107 1439021 CAP ¢ 1/4"F HEIGHT 16 mm NUT 17 mm
108 1449711 FLEX HOSE @ 3/8" Fp x Fc 500 mm
110 1349082 BRASS FITTING @ 3/8"M 3/8"M WITH FILTER
111 1349202 FITTING 3/8M-3/8M
112 1160400 WATER FILTER ¢ 11 mm
113 1002004 CIRCLIP J-9
114 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
115 1349103 FITTING @ 3/8"M-3/8"M
116 1330012 ROTARY VANE PUMP PROCON g 3/8" NPT
116 1330026 ROTARY VANE PUMP ROTOFLOW g 3/8" GAS
117 1191006 MOTOR COUPLING KIT

118

1168011

STAINLESS STEEL CLAMP FOR FLANGE PUMP




.y ORCHESTRALE

Suitable for: Suitable for:

Ball valves and accessories

5048593 SPHEREVALVE@ 1/4"mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

=

ORCHESTRALE D20354

Boiler safety valves
1523538 BOILER VALVE ¢ 1/4"M 1523409 BOILERVALVE ¢ 3/8"M
made of brass calibration pressure 1,9 bar

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D56150 ORCHESTRALE D20352
1515100 BOILER VALVE ¢ 3/8"M 1.8bar CE-PED 1515120  BOILER VALVE ¢ 3/8"M 1.9bar CE-PED
calibration pressure 1.8 bar calibration pressure 1.9 bar

steam outlet capacity 6.3 Kg/h steam drain flowrate 6.3 Kg/h
@»\\ ‘ *fi ke
= is
ORCHESTRALE D20356 ORCHESTRALE D20352
1523002 PROTECTION FLANGE FOR BOILER VALVE 1523402  SAFETY VALVE PROTECTION

ORCHESTRALE D15006001 ORCHESTRALE D56009980



ORCHESTRALE

Suitable for: Suitable for:

Booster pumps
1330012 ROTARY VANEPUMP PROCON g 3/8" NPT 1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP

clamp connection

flow rate 200 I/h

equipped with balanced bypass
connection @ 3/8" conical NPT
NSF approved

ORCHESTRALE D26302 ORCHESTRALE D26310003

1330026 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" GAS 1349103  FITTING ¢ 3/8"M-3/8"M
clamp connection
flowrate 200 L/h
equipped with bypass
connection o 3/8" gas
NSF - WRAS approved

ORCHESTRALE D26303 ORCHESTRALE D25687

1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP

ORCHESTRALE D26310003

1330001 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP
clamp connection
flowrate 100 L/h
equipped with balanced bypass
connection @ 3/8" conical NPT
NSF - WRAS approved

ORCHESTRALE D26303001 ORCHESTRALE D26310003




/

N

)| ‘/‘P
4 ORCHESTRALE
Suitable for: Suitable for:
1330101 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
flange connection
flowrate 100 L/h
with balanced by-pass
fitting @ 3/8" conical NPT
N.S.F. approved
PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%
ORCHESTRALE ORCHESTRALE D26310003
1330102 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
flange connection
flowrate 200 L/h
with balanced by-pass
fitting @ 3/8" conical NPT
N.S.F. approved
PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%
ORCHESTRALE ORCHESTRALE D26310003
Brushes
1384023 BRUSH FORCLEANING 50 mm 1384001 BRUSH FOR COFFEE SHOWER
ORCHESTRALE ORCHESTRALE D15426
1384002 BRUSH FORMAINTENANCE 1384014 BRUSHFORSHOWER RED

=

ORCHESTRALE ORCHESTRALE



Suitable for:

ORCHESTRALE %

Suitable for:

Capacitors, electrical

3068016 CAPACITORDUCATIENERGIA 10pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connector 6.35x0.8 mm
2 36xh58 mm

ORCHESTRALE D19050

3068014 CAPACITORDUCATIENERGIA 8pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connection 6.35x0.8 mm
@ 32xh55 mm

ORCHESTRALE D19062001

3068080 CAPACITORELECTRICAL 10pF
450V 50/60Hz - ¢ 30xh71 mm

&\

ORCHESTRALE D19050

3068079  CAPACITORELECTRICAL 8pF
450V 50/60Hz - @ 30xh71 mm

&

ORCHESTRALE D19062001

Cappuccino makers - Cappuccinatore

1079030 KIT MILK FROTHER ASTORIA/CMA

ORCHESTRALE D30515000

Caps

1439048 BOILER CAP ¢ 1/4"M

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D25780

1439021  CAP ¢ 1/4"FHEIGHT 16 mm NUT 17 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D25782

1439001 CAP¢ 16 mm FOR BREW GROUP

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

&>
-

ORCHESTRALE D27118



&

ORCHESTRALE
Suitable for: Suitable for:
Circlips
1002004 CIRCLIPJ-9
stainless steel - g external 11.8 mm
UNI 7437 - DIN 472
ORCHESTRALE D10005
Clamps
1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP
ORCHESTRALE D26310003
Coffee filters
1160339  BLIND FILTER ¢ 70x17 mm 1160050 1 CUPFILTER6 gr

ORCHESTRALE D27173 ORCHESTRALE D27146

1160052 1 CUPFILTER 7 gr 1160053 2 CUPSFILTER 14 gr

ORCHESTRALE D27142 ORCHESTRALE D27171
Coffee groups
1439011 CHROMIUM-PLATED SIDE CAP 1027016  UPPER CHROMIUM-PLATED SLEEVE
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D27120 ORCHESTRALE D27119



ORCHESTRALE %@

Suitable for: Suitable for:

Coffee measuring spoons
1069001 PLASTIC MEASURING SPOON 20 ml 1069002  STAINLESS STEEL MEASURING SPOON 20 ml
ORCHESTRALE D15290 ORCHESTRALE
Contactors

3454064 CONTACTOR ABB AF09-40-00-13
9A 400V 4Kw - coil 100/250V 50/60Hz
4 normally open contacts
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D20299005

Couplings

1191006 MOTOR COUPLING KIT

-
S

ORCHESTRALE D83260016R

Drain hoses

1449270 DRAINPIPEELISPIRg 12x18 mm -30m 1449670  DRAIN PIPEELISPIR g 12x18 mm -5 m
alimentary alimentary
et \\ \
TR 8 - \
b
ORCHESTRALE ORCHESTRALE
1449271 DRAINPIPEELISPIR ¢ 14x20 mm -30m 1449671  DRAIN PIPEELISPIR ¢ 14x20 mm -5 m
alimentary alimentary
ST S
I Y
) \\»\;‘:\»\\ 3 \'\\‘\,\’\\\_
3 > :é"'}&q\

ORCHESTRALE ORCHESTRALE




%z ORCHESTRALE
Suitable for: Suitable for:
1449272 DRAIN PIPEELISPIR ¢ 16x23 mm -30m 1449672  DRAIN PIPEELISPIRg 16x23 mm-5m

alimentary

ORCHESTRALE D15470

alimentary

ORCHESTRALE D15470

1449273 DRAIN PIPEELISPIR ¢ 18x25mm -30m 1449673  DRAIN PIPEELISPIR ¢ 18x25mm -5 m

alimentary alimentary

N\am \\\\ \\\\:\
< \\\;\\\\ \\‘\\\\\\\\\\\
AEkNS AR

] \\ \\ A 1‘}f'\v\\\
ORCHESTRALE ORCHESTRALE
1449274 DRAIN PIPEELISPIR 6 20x27 mm -30 m 1449674  DRAIN PIPEELISPIR ¢ 20x27 mm -5 m

alimentary alimentary

> N o)LL ) \\\\\\\\\\\ ‘
SR SatiNt

ARl AT

:\\:1 \ “ér.\s\\
ORCHESTRALE ORCHESTRALE
1449255 OUTLETHOSEELISPIR ¢ 25x33 mm 1449256  OUTLET HOSE ELISPIR ¢ 30x38 mm

sold per meter sold per meter

SFTTTY SRANR
-\\\\\\)\J\]\)\H—WJ\))/ A )
M AWAANARR

r\\\\ \\\]})))) r\\\\\ \\))))))

\‘\\\\\\,\/\\\\ \\X\\\\\\\\\
ORCHESTRALE ORCHESTRALE

Drain tanks

1527504 DRAINTUB¢80mm

fitting 2 3/8"

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D15502




ORCHESTRALE %@
Suitable for: Suitable for:

Electronic boxes
1054052 DOSER CONTROL BOX 1-4 GROUPS 230V

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D18090116 ORCHESTRALE 18090116

Filter holder gaskets
1186894 FILTER HOLDER GASKET ¢ 73x57x8 mm 1186895  FILTER HOLDER GASKET ¢ 73x57x8.5 mm
with internal cuts with internal cuts
NBR 75 SH soft NBR 75 SH soft
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D12227 ORCHESTRALE D12228
5049383 GASKETFILTER HOLDER ¢ 73x57x8 mm 5048451  GASKETFILTER HOLDER ¢ 73x57x8.5 mm

with internal splits

NBR 75 SH soft

ORIGINAL

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

O

ORCHESTRALE D12227

with internal splits

NBR 75 SH soft

ORIGINAL

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

O

ORCHESTRALE D12228

Filter holders for coffee machines

1165189 BOTTOMLESS FILTERHOLDER WEGA

wings 6.4 mm

\

ORCHESTRALE

1165082

FILTER HOLDER ASSEMBLY 1 CUP WEGA
spout connection @ 3/8" - knob connection M12
fins 6.5 mm - with spring and filter 7 gr

ORCHESTRALE D27311054




)
( \E/‘

v

Suitable for:

ORCHESTRALE

Suitable for:

1165083 FILTERHOLDERASSEMBLY 2 CUPS WEGA
spout connection @ 3/8" - knob connection M12
ins 6.5 mm - with spring and filter 14 gr

ORCHESTRALE D27311055

1165081  FILTERHOLDERASSY WEGA
spout connection ¢ 3/8" - handle connection M12
wings 6.5 mm - spring and filter not included

g

ORCHESTRALE D27311010

1165241 FILTERHOLDER CAPS.LAVAZZA DIFF.BRANDS
alette 6,4 mm
per capsule singole lavazza blue

ORCHESTRALE

2106200  FILTERHOLDER COFFEE MACHINES WEGA
spout connection ¢ 3/8" - handle connection M12
wings 6.5 mm - without spring, without filter

EiD

1

ﬁ/ <@

ORCHESTRALE D27311010

1165222 PORTAFILTRO SENZA FONDO VARI MARCHI
alette 6,4 mm
adattabile per macchine BIANCHI
adattabile per macchine ELEKTRA
adattabile per macchine FIAMMA RST
adattabile per macchine FIORENZATO CS
adattabile per macchine ISOMAC
adattabile per macchine MCE
adattabile per macchine ORCHESTRALE
adattabile per macchine QUICK MILL
adattabile per macchine SCALA
adattabile per macchine WEGA

'

ORCHESTRALE

Filter locking springs

1250101 FILTERBLOCKING SPRING ¢ 1,00 mm INOX

ORCHESTRALE

1250338  FILTERLOCKING SPRING ¢ 1.40 mm ST.STEEL

ORCHESTRALE

1250002 S/STEELFILTER LOCKING SPRING ¢ 1.20 mm

ORCHESTRALE D27255 ORCHESTRALE

1250333  SPRING FILTERBLOCK ¢ 1.30 mm ST.STEEL

ORCHESTRALE




ORCHESTRALE %

Suitable for: Suitable for:

Filters
1160566 STAINLESS STEEL WATER FILTER 0 8 mm 1160400 WATERFILTER@ 11 mm

ORCHESTRALE D10251001 ORCHESTRALE D10254

1160517 WATERFILTER ¢ 8.5x22mm

ORCHESTRALE D10253

Fittings

1349019 "T"-COUPLING 3/8"F 3/8"M FORINJECTOR 1349089  BOILERFITTING ¢ 1/2"

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D43030001 ORCHESTRALE D23214
1349278 BOILERFITTING ¢ 1/2"M-1/2"M-1/4"F 1349082 BRASSFITTING ¢ 3/8"M 3/8"M WITH FILTER

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D23215 ORCHESTRALE D56116
1349084 ELBOW FITTING ¢ 3/8"M-3/8"M 1349102  FITTING ¢ 1/4"M-1/4"M

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D43052 ORCHESTRALE D25686




&

ORCHESTRALE
Suitable for: Suitable for:
1349111 FITTING ¢ 1/8"M 1/4"M 1349103  FITTING ¢ 3/8"M-3/8"M

ORCHESTRALE D25707 ORCHESTRALE D25687

1349202 FITTING 3/8M-3/8M 1349079  L-FITTING ¢ 1/4"M 1/8"M
with filter lodging
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D25732 ORCHESTRALE D23201

1349491 T-SHAPED FITTING ¢ 1/4"M-1/4"M-1/4"M
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

SR A

ORCHESTRALE D43060

Flowmeters

1455067 VOLUMETRICFLOW METER GICAR
connections @ 1/4"FF - orifice 1.15 mm - NSF
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D18126

Fuses

3049020 DELAYFUSEg 5x20mm -10PCS
250V 6.3A

ORCHESTRALE D19103



Suitable for:

ORCHESTRALE

Suitable for:

Gaskets and seals

1186394 ASBESTOS FREE FLAT GASKET ¢ 22x17x2 mm

ORCHESTRALE D12010

1186378  CONICAL PTFE SEAL ¢ 14x7x6 mm

for water/steam pipe

ORCHESTRALE D12661

1186619 COPPER FLAT GASKET ¢ 18x14x1.5 mm

ORCHESTRALE D12153

1186620  COPPER FLAT GASKET ¢ 22x17x1.5 mm

ORCHESTRALE D12154

1186771 COPPER FLAT GASKET ¢ 8,5x5x1 mm

ORCHESTRALE D12155

1186606  FLAT CARBO GASKET ¢ 57x43x3 mm

in universal carbo
for heating element

ORCHESTRALE D12001

1186415 FLATPTFE GASKET

for solenoid valve

ORCHESTRALE D12013

1186594  FLATPTFE GASKET ¢ 20x17x2 mm

s )
\_/

ORCHESTRALE D21010

1186201 GASKETFLATPTFE ¢21x16.8x2 mm

ORCHESTRALE D12010

1186326  PTFE FLAT GASKET ¢ 22x16x2 mm

ORCHESTRALE D12025




’ ORCHESTRALE
Suitable for: Suitable for:
1186307 PTFE FLAT GASKET ¢ 36x30x2 mm 1186179  PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

\_/ g

ORCHESTRALE D12023 ORCHESTRALE D12001

1186194 PTFEFLAT GASKET ¢ 58x43x2 mm 1186768 ROUND COPPER GASKET ¢ 10x6.4x2 mm

for heat exchanger

ORCHESTRALE D12001 ORCHESTRALE D12103

1186769 ROUND COPPER GASKET ¢ 18.7x13x2.5 mm 1186186 ROUND COPPER GASKET ¢ 23x17x3 mm

ORCHESTRALE D12100 ORCHESTRALE D12101

1186445 ROUND COPPER GASKET ¢ 26x21.4x2 mm

— _\."

ORCHESTRALE D12105

Gaskets for coffee machine boiler

1186561 BOILER GASKET 9 190x137x3 mm 1186562 BOILER GASKET 9 191x139x3 mm
universal carbo - 11 holes PTFE - 11 holes
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D12003 ORCHESTRALE D12003



Suitable for:

ORCHESTRALE

Suitable for:

Handles for filterholder-portafilter

1241206 BLACKFILTER HOLDER HANDLE M12 1186774  BURNPREVENTING RING FOR HANDLE
ORCHESTRALE D15263010 ORCHESTRALE D15296010

1241469 CHROME PLATED CAP FORFILTER HOLDER KNOB 1241502  FILTERHOLDER HANDLE M10
ORCHESTRALE D15486006 ORCHESTRALE

1241169 FILTERHOLDER HANDLE M12 1241501 FILTERHOLDER HANDLE M12
ORCHESTRALE ORCHESTRALE

1241504 FILTERHOLDERHANDLE M12 1241269  FILTERHOLDERKNOB M10

ORCHESTRALE ORCHESTRALE

1141006 FILTERHOLDERKNOB M10 SOFT 1141007  FILTERHOLDERKNOB M124 SOFT
ORCHESTRALE ORCHESTRALE

5051751 FILTERHOLDER KNOB WHITE M10 1141004  HANDLE FORFILTER HOLDER M10 WALNUTWOOD

ORCHESTRALE

ORCHESTRALE

\




/

N

)w‘/‘(\‘

’ ORCHESTRALE
Suitable for: Suitable for:
5083515 HANDLEFORFILTERHOLDERM10 WALNUTWOOD 1141003 HANDLEFORFILTERHOLDERM12 WALNUTWOOD
ORCHESTRALE ORCHESTRALE
5055983 HANDLEFORFILTERHOLDERM12 WALNUTWOOD 5054505 KNOBF.FILTERHOLDER M12 RED POLISHED
ORCHESTRALE ORCHESTRALE
1241505 KNOBFILTER HOLDER M10 5054506 RED FILTERHOLDERKNOB M10 POLISHED
ORCHESTRALE ORCHESTRALE

5051102 WHITEFILTERHOLDERKNOB M12

)
ORCHESTRALE
Heating elements
1755605 HEATING ELEMENT 2600W 110V 1186606  FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 320 mm - 4 poles in universal carbo
distance between the holes 75 mm for heating element

with bulb sheath - flange 95x57 mm
for coffee machines with 2 groups
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

S

ORCHESTRALE D17050 ORCHESTRALE D12001




Suitable for:

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001

ORCHESTRALE %

Suitable for:

1755608 HEATING ELEMENT 2700/2940W 230/240V
immersed length 180 mm - 6 poles
distance between the holes 75 mm
with bulb sheath - flange 95x57 mm

1186606  FLAT CARBO GASKET ¢ 57x43x3 mm

in universal carbo
for heating element

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D17012

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001

ORCHESTRALE D12001

1755273 HEATING ELEMENT 2700W 120V
immersed length 170 mm - 6 poles
distance between mounting holes 75 mm
flange 95x57 mm
for coffee machines 1 group

1186606  FLAT CARBO GASKET ¢ 57x43x3 mm

in universal carbo
for heating element

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D17016

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001

ORCHESTRALE D12001



b, ORCHESTRALE

Suitable for: Suitable for:

1755258 HEATING ELEMENT 3400/3700W 230/240V 1186606  FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 320 mm - 6 poles in universal carbo
distance between flange holes 75 mm for heating element

with bulb sheath - flange 95x57 mm

for 2 groups machines
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

e

ORCHESTRALE D17059 ORCHESTRALE D12001

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001

1755606 HEATING ELEMENT 3700W 110V 1186606  FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 580 mm - 4 poles in universal carbo
distance between theholes 75 mm for heating element

flange 95x57 mm
for coffee machines with 3 groups
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D17100 ORCHESTRALE D12001

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001



1
ORCHESTRALE %a
Suitable or: Suitable for:
1755070 HEATING ELEMENT 4000W 230/240V 1186606  FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 310 mm - 6 poles in universal carbo
distance between the holes 75 mm for heating element

\

with bulb sheath -flangia 95x57 mm
for coffee machines with 2 groups
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D17057 ORCHESTRALE D12001

1186179

PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001

1755259 HEATING ELEMENT 5000/5440W 230/240V 1186606 FLATCARBO GASKET ¢ 57x43x3 mm
immersed length 575 mm - 6 poles in universal carbo
distance between mounting holes 75 mm for heating element
with bulb sheath - flange 95x57 mm
for 3 groups coffee machines
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D17107 ORCHESTRALE D12001

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001



v ORCHESTRALE

Suitable for: Suitable for:

1755071 HEATING ELEMENT 5000W 230/240V 1186606  FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 500 mm - 4 poles in universal carbo
distance between fixing holes 75 mm for heating element

with bulb sheath - flange 95x57 mm
for 3 groups coffee machines
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D17106 ORCHESTRALE D12001

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

ORCHESTRALE D12001

Hydraulic piping
1449687 SILICONEHOSE ¢ 8x10 SHORE60-10 m 1449287  SILICONE HOSE ¢ 8x10 SHORE60-100 m
alimentary alimentary
ORCHESTRALE D15478002 ORCHESTRALE D15478002
Indicator lights
3221132 GREENINDICATOR LAMP 230V 1221059  RED INDICATORLIGHT 110V
head ¢ 13.5 mm - hole 6 10 mm - 120°C head ¢ 13.5 mm - hole 6 10 mm
universal application for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

T =
ey =

ORCHESTRALE D21011 ORCHESTRALE D21004



ORCHESTRALE %

Suitable for: Suitable for:

Injectors

1501005 NOZZLEM6x1HOLE@ 0,7 mm
for brew group
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D10300C

Inlet hoses

1449725 FLEXHOSE@ 3/8"FcxFc1500 mm 1449710  FLEXHOSE @ 3/8"Fp xFc300mm
EPDM hose covered in stainless steel EPDM hose covered in stainless steel
hose external ¢ 12 mm hose external g 12 mm
max temperature 90°C max temperature 90°C
max pressure 10 bar max pressure 10 bar

ORCHESTRALE D30408 ORCHESTRALE D30403
1449711 FLEXHOSE @ 3/8"Fp xFc 500 mm 1449723  FLEXHOSE®@ 3/8"Fcx Fc 1000 MM
EPDM hose covered in stainless steel EPDM hose covered in stainless steel
hose external g 12 mm hose external g 12 mm
max temperature 90°C max temperature 90°C
max pressure 10 bar max pressure 10 bar

ORCHESTRALE D30404 ORCHESTRALE D30407

Ironmongery (screws,nuts,washers)

1349042 BRASSNUT ¢ 3/8" 1186446  BRASS WASHER ¢ 28x17x2 mm FLAT

for water/steam hub
z > — 3 .
%ﬁ“%
s N

ﬁ‘?

ORCHESTRALE D25356 ORCHESTRALE D25651




&

Suitable for:

ORCHESTRALE

Suitable for:

1186035 BRASS WASHER ¢ 18x12x1 mm FLAT

ORCHESTRALE D25652

1455034  CYLINDERHEAD SCREW M4x10
stainless steel - with hexagon socket
UNI5931-DIN912-1S0 4762

ORCHESTRALE D23560

1184804 CYLINDERHEAD SCREW M6x8
stainless steel - with hexagon socket
UNI5931-DIN 912 -1S0 4762

ORCHESTRALE D23558

1349061 GLASSFASTENING NUT ¢ 1/2"FHOLE12 mm
nut height 18 mm - nut 24 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D25383

1348025 HEXAGONALNUTM3
brass - UNI 5587 - ISO 4033

ORCHESTRALE D23050

1348035 NUT@1/8"

ORCHESTRALE D25395

1528056 S/STEEL SCREW T.C.E.l. M10x20
stainless steel - with hexagon socket
UNI5931-DIN912-1S0 4762

ORCHESTRALE D23556

1528055  S/STEELSTUD ¢ 8x40 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D23133

1184009 STAINLESS STEEL M8x25 mm STUD

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

WY Wy
RN W iy
W ‘,‘\‘,"'\'\\' \.: I ‘1\‘\ ,

RO |
1] )

WW u\‘,\\‘
BN

ORCHESTRALE D10405004



ORCHESTRALE

Suitable for: Suitable for:

Knobs
1241179 WATER/STEAM TAP KNOB 1241180  WATER/STEAM TAP KNOB
hole for square pin 7x7 mm - dimensions 53x53 mm pin hole 7x7 mm
for Coffee machine (ORCHESTRALE) ETNICA for Coffee machine (ORCHESTRALE) PHONICA

ORCHESTRALE D15278015 ORCHESTRALE 15278015 ORCHESTRALE D15278016 ORCHESTRALE 15278016

Level gauges

1520506 LEVEL GLASS@11x170 mm 1520511  LEVEL GLASS ¢ 11x170 mm

ORCHESTRALE D21300 ORCHESTRALE D56001

Level regulators

1341043 LEVEL ADJUSTER NRL30/2E/2R/F 230V
230V 50/60Hz
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D18080005 ORCHESTRALE 18080005

Level sensors

1341750 LEVEL PROBE @ 1/4"M-125 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D20251



b, ORCHESTRALE

Suitable for: Suitable for:
Motors
1240606 RPM CLAMP MOTOR 310W 1240610 RPM MOTOR WITH CLAMP CONNECTION 120W 230
model C042300 model C013728
power 310W 110/120V 50/60Hz power 120W 230V 50Hz 1.15A
capacitor 25 pf capacitor 8 pf
for volumetric pump for rotary vane pump
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D56407 ORCHESTRALE D18303
1240607 RPMMOTORWITH CLAMP CONNECTION 330W 230
model C042204
power 330W 220/240V 50/60Hz 1.6/1.4A
capacitor 7 pf
for volumetric pump
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D56406
Non-return and expansion valves
1523403 EXPANSION AND NON-RETURN VALVE
fittings @ 1/4"M-1/4"M-3/8"M
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D20361
Nozzles for coffee groups
1501007 BREW GROUP SPRAY NOZZLE ¢ 30 mm M10x1

via hole M5
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D27105000



Suitable for:

ORCHESTRALE

Suitable for:

O-Ring and ORM gaskets

1186422 0-RING 0108 EPDM

ORCHESTRALE D12312

1186612  0-RING 02025 VITON

ORCHESTRALE D12305

1186318 0-RING 03043 EPDM

ORCHESTRALE D12300

1186766  O-RING 04075 VITON

ORCHESTRALE D12024

1186184 VITON O-RING 03156

ORCHESTRALE D12300000

Pipes for coffee machines

1349017 INJECTION PIPE 1/4"M-1/4"M

tube 8 6 mm - length 80 mm
for boiler cts

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D52002788

Pressure gauges

1245068 PUMP PRESSURE GAUGE ¢ 61 mm 0+25 bar
single scale 025 bar - connection ¢ 1/8"M
frame 68 mm - body 61 mm

for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D2113001 ORCHESTRALE 21130001 ORCHESTRALE 2113001



/

vy ORCHESTRALE

Suitable for: Suitable for:

Pressure reducers

1350701 PRESSUREREDUCER ¢ 1/2"FF
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D26330

Pressure switches

1320531 PRESSURE SWITCH P302/6 3-POLES 30A
CE-SEV-ASE-UL approved
ISO 228 G connection 1/4"M for pipe ¢ 4x6 mm
adjustable scale 0.5+1.4 bar
fixed differential 0.15 (£ 0.06) bar
fluid temperature max :140°C
max contact load : 220V 7KW (30A)
400V 12KW (30A)

ORCHESTRALE D20150

Probes

1397052 TEMPERATURE PROBENTC
bulb ¢ 5.5 mm - fitting ¢ 1/8"M
for delivery group

-
==

ORCHESTRALE D20306

Rubberpieces for steam-water taps

1186180 BURNPREVENTING RUBBERPIECE ¢ 10 mm

ORCHESTRALE D15296001



ORCHESTRALE %

Suitable for: Suitable for:

Seals for level glasses

1186206 EPDM FLAT GASKET ¢ 16x10x8 mm

for level glass

ORCHESTRALE D12200

Shower screens for brew group

1081601 PRECISION SHOWERNANOTEC ¢ 60 mm 1460201  PRECISION SHOWER SCREEN ¢ 60 mm
non-stick NANOQUARTZ coating 98 holes 6 3 mm
increases the resistance to corrosion Aisi 304 stainless steel - food-safe certified
and to chemical reaction integrated membrane 200 pM
98 holes 2 3 mm for GROUPS E61
steel Aisi 304 - foodsafe certified for Coffee machine (ORCHESTRALE)

integrated membrane 200 pm
for E61 GROUPS

ORCHESTRALE LF-1081401 ORCHESTRALE ORCHESTRALE
1460206 PRECISION SHOWER SCREEN ¢ 60 mm 1081516 SHOWER ¢ 60 mm
120 holes @ 2.5 mm for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

Aisi 304 stainless steel - food-safe certified
wire membrane 35 pM

for GROUPS E61

for Coffee machine (ORCHESTRALE)

ORCHESTRALE ORCHESTRALE

1081016 SHOWER SCREEN ¢ 60 mm 1081116  SHOWER SCREEN ¢ 60 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D27104 ORCHESTRALE




.y ORCHESTRALE

Suitable for: Suitable for:

1081216 SHOWER SCREEN ¢ 60 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE

Solenoid valves

1120247 SOLENOID VALVE OLAB 2WAYS o 1/8"F 230V 1120466  2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
coil 6000BH/K5FV 230V 50Hz 9/12VA 7121ZBG1LVOO - fittings @ 1/8"FF - max 10 bar
adjustable VITON seal - orifice 2.5 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA with coil 483510S5 F 9W 110/115/120V 50/60Hz

fluid temperature -10°C+140°C

ORCHESTRALE D18161988 ORCHESTRALE D18195
1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz 1120102  3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
7121ZBG1LVO0O - fittings @ 1/8"FF - max 10 bar E131F4304 - drain ¢ 1/8" conical - max 10 bar
VITON seal - orifice 2.5 mm RUBY seal - orifice 8 1.5 mm
with coil 483510 9W 220/240V 50/60Hz with coil 483510S5 9W 110/115/120V 50/60Hz
fluid temperature -40°C+140°C fluid temperature -40°C+140°C

ORCHESTRALE D18162002 ORCHESTRALE D18150

1120330 3-WAY SOLENOID VALVELUCIFER 240V 50Hz
E131F4304 - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 2.5 mm
with coil 48351056 9W 220/240V 50/60Hz
fluid temperature -40°C+140°C

1Y

ORCHESTRALE D18151



ORCHESTRALE

Suitable for: Suitable for:

Spouts for coffee
1022522 ADJUSTABLE LONG DOUBLE SPOUT ¢ 3/8" 1022523  ADJUSTABLE SHORT DOUBLE SPOUT ¢ 3/8"
ORCHESTRALE ORCHESTRALE
1022504 CLOSED SINGLE SPOUT ¢ 3/8" 1022502 DOUBLESPOUT ¢ 3/8"

ORCHESTRALE ORCHESTRALE

1022521 LONGDOUBLE SPOUT ¢ 3/8" 1022099  SINGLE SPOUT ¢ 3/8"

ORCHESTRALE ORCHESTRALE D27032001

1022501 1022506 SPOUTDOUBLE ¢ 3/8"

ORCHESTRALE ORCHESTRALE D27042001

1165256 SPOUTDOUBLE ¢ 3/8" NANOTECH 1022503  STRAIGHT SINGLE SPOUT ¢ 3/8"
Rivestimento antiaderente in NANOQUARZO che
aumenta la resistenza a corrosione
e da attacco chimico.
Grazie al rivestimento interno e esterno
le superfici sono completamente antiaderenti,
il flusso d acqua e costante ed uniforme.
Trattamento certificato alimentare.

ORCHESTRALE ORCHESTRALE




/

N

)| ‘/‘P
o ORCHESTRALE
Suitable for: Suitable for:
1022551 TRIPLESPOUT ¢ 3/8" 5031337  1-CUP STRAIGHT SHORT SPOUT ¢ 3/8"
- @
\ \ .
B '
"
/l‘ﬁ,*./ S
ORCHESTRALE ORCHESTRALE
Springs
1250001 SPRING ¢ 11.4x18 mm FORSTEAM PIPE 1250372  SPRING ¢ 11,4x16 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for water/steam hose
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
ORCHESTRALE D10465 ORCHESTRALE D10465

Steam taps and spares for coffee mach.

1548008 STEAM/WATERTAP
for Coffee machine (ORCHESTRALE) ETNICA

ORCHESTRALE D20233003 ORCHESTRALE 20233003

Steam-water pipes coffee machines

1549029 COMPLETE STAIN.STEEL STEAM PIPEg 10 mm 1549030 COMPLETE STAIN.STEEL STEAM PIPEg 10 mm
pipe length 260 mm pipe length 250 mm
for Coffee machine (ORCHESTRALE) ETNICA for Coffee machine (ORCHESTRALE) PHONICA
O vio
ORCHESTRALE D25763120 ORCHESTRALE 25763120 ORCHESTRALE D25763122 ORCHESTRALE 25763122
1549031 COMPLETE STAINLESS STEEL WATER PIPE 1449332 WATERPIPENOZZLE
overall length 114 mm for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

for Coffee machine (ORCHESTRALE) ETNICA

ORCHESTRALE D25763127 ORCHESTRALE 25763127 ORCHESTRALE D25763142



ORCHESTRALE %@
Suitable or: Suitable for:
Switches
1319240 BIPOLARSWITCH LEVER SHAPE 3A 250V 1319005 BIPOLARSWITCH 16A 250V
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
\w

ORCHESTRALE D18249 ORCHESTRALE D18371057
3319296 BLACKBIPOLAR SWITCH 16A 250V 3319501  PUSH-BUTTON PROTECTION CAP
with red led indicator light external dimensions 29x36 mm
max temperature 120°C for switches with mounting hole 22x30 mm

mounting hole 22x30 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D18263 ORCHESTRALE D19049
1319242 BUTTONF.PUSH-BUTTON PANEL 1319167 BUTTONFORPUSHBUTTON PANEL
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D15373059 ORCHESTRALE D15373060
3319501 PUSH-BUTTON PROTECTION CAP 1319082  SINGLE-POLEPUSHBUTTON 16A 250V
external dimensions 29x36 mm for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

for switches with mounting hole 22x30 mm

ORCHESTRALE D19049 ORCHESTRALE D18371058
1319505 7BUTTONS COMPLETE PUSH-BUTTON PANEL 1319504 7 BUTTONS PUSH-BUTTON PANEL
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D83180011R ORCHESTRALE D18371079



)
( \E/‘

v ORCHESTRALE

Suitable for: Suitable for:

Tampers for coffee

1385002 NYLON COFFEE TAMPER ¢ 50/57 mm

ORCHESTRALE D15420

Thermostats

1444509 THREE-PHASE THERMOSTAT 169°C
with manual reset
covered capillary 900 mm
bulb ¢ 4x128 mm
for Coffee machine (ORCHESTRALE) ETNICA - PHONICA

ORCHESTRALE D20300015

Tools
1505002 EXTRACTORFORFILTER S.STEEL WITH HOLE 3394906 TELESCOPICKIT ¢ 30x165 mm
extension overall length 485 mm
ORCHESTRALE ORCHESTRALE

Vibration insulators for motors

1313002 ANTIVIBRATION SUPPORT ¢ 15x15 mm M4

ORCHESTRALE D15105




ORCHESTRALE

Suitable for: Suitable for:

Water softeners and accessories
3010001 MANUAL WATER SOFTENER 8L ¢ 3/8" 3010011  WATERINLET TAP ¢ 3/8"
for water treatment for TECHNICAL purposes for DVA models

STAINLESS STEEL cylinder capacity 8 L
connection 3/8"

dimensions: height 400 mm - ¢ 185 mm
resin content 5.8 L

regeneration salt(NaCl-table salt)1 Kg

ORCHESTRALE ORCHESTRALE D28284
3010161 MANUAL WATER SOFTENER 8L ¢ 3/8" 3010112  RESINSL
for water treatment for TECHNICAL purposes 5 litre bag

plasma welding

STAINLESS STEEL cylinder capacity 8 L
connection 3/8"

dimensions: height 400 mm - ¢ 185 mm
resin content 5.8 L

regeneration salt(NaCl-table salt)1 Kg
inlet water maximum temperature 60°C

ORCHESTRALE ORCHESTRALE

3010299 SALEPERADDOLCITORE IN PASTIGLIE 10 Kg 3010300 SALTFORWATER SOFTNER IN TABLETS 25 Kg
PER IMPIANTI DI ADDOLCIMENTO ACQUA FOR WATER SOFTENING SYSTEMS

ORCHESTRALE ORCHESTRALE

3010011 WATERINLET TAP ¢ 3/8"
for DVA models

ORCHESTRALE D28284






	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

